<{K&2 ODZFS%IJ%':*> 20194E7 B 138 ¥k
lm-lc)ﬁ

7/20| =L ﬁﬁ N fl |dtBEE |= RIF#5)3E
7/23| N |1 N & | RFEE |= 17I<Eé)
7727129 HI| A & [dtBEER |= K&z

7/271\ £ 1F ®i| N & |[EEEE |= ¥ 1 %Efﬁ
/29 A1F w1l N & ZESEE |= K&2

1/31 K" 2| N #B REER |= 17I<"
81| KRF #gIl N # REER |= K52
8/3 x4 HI| N & [dtBEEEm |= A PR
8/3 x4 HI| N & |[[FIEER |= 2T €
8/3| |4 mI| N Fl Hﬁﬁliﬁfﬁ = KEZFRE
8/8| KIF & N ¥ |BiEE |= R %m
8/100x 4 HI| N & [dtBEEm |= K&z

8/14 KR 2| N ¥ =ZFEE |= 17|<’\
g/211K1F % N & EFEERER |= K52




gg;%i: &l N H EEER = REFE
8/30| & |2 AIl P B [ AATEED = Kz
9/21 _:: T —E—:’— E ;j ﬁijEEI %Efﬁ = 1*519/\
9/27 é Vaul —ﬁ‘-i— W$:—- il_;f: %Efﬁ = £l'ﬁ“ﬁ£:1§5,*§|€
0/28| |5 i A 4 So= %Efﬁ = DS
Y oal 14 & EMER- T T IE it
9/30 E Va sl -E-}- jqu*ﬁ-—l- 23%% =E6h = 1*;/:\
- t ERE B

10/3| K| F % N # 1&'5‘" %Efﬁ = K&
10/4| €| HI . PEEER |= 7))
ez Eom om g R 2 Ko
10/1 A NE AREE = 1*52
oKF % N ¥ [EBE 62
10/24 K& B t EIFEE = tRs5
11/29 2% A K FLIEE = K
/51 % % 8] AT EREE S e
3/30 A% H AR ZOEE S ks
al AR [EEEM = s




M ﬁ’fiﬂ"ﬂ&)f\:

Hu’i’ﬁ—-

8/15| K| F #% NEER |= K52
8/16| & |F ®HI| 4t E (UNEED = K52 2
8/22| K|F #| st E [UNEE = K52 2
8/28| K |F # | x5 ®E /NEEER = K&2
8/29| K |F wI| W4 E ZFEEEE = K52
9/11|7K |9 7| X4 El BEOEED |= K52 2
9/26| K |4 FiI| 4Rl FEEEED |= K&2 =
10/5| |4 71| 9L |[{E4< KERD |= K2 >
10/9/7K|F ®iI| 4 BMOAEEn = K52 =
10/9/K|F #| s F =EEEn = K52 2
10/9|7K|F #&| WHE /NEERR = K52 2
10/10| K|F #| s E IURER = K52 2
10/10| K| F #&| 4 E FEAER = K52 =
10/11|& |9 81| 5 E [IULRER  |= K52 2
10/12| |4 w1 5 E NEERR = K52 2




= ' Dl . 7o A =
0/SALE FI BotH [ERER = 32
11,/20] 7K | F 1& H%gﬁf AR = A&z
11/21| K| ZF Ig; i baX MUN: J° T h&2
V2L RE R RAn ZTER 2 i
E%ﬂ&)ﬁ?@ﬁ”ﬁﬂﬂgﬁz EEER |= 7D

e e e

LT R REn MER 2 & A E
9/26| K| 1,'— :ﬁ*f' ”,f 7§Eﬂi = H L ERm
9/27%tp~|§{J Lety IR S K&
10/24§|é£:'5]”/+1,2{E :ﬁ*f' iﬂﬁﬂi’%gﬂi = K2
Ty — e
7 il |2 % 0 = mm =
AN ATl = AL
7/20| £ |9 HI /\IJ'%#' = iE% :ﬁé)ﬁﬁfﬁmroooﬂ)
o B % INER = ER = AR RE19: 30k
/26/% | F &| MR [EEEGD =E§9§H%Faﬁ15:004:lj




8/1|K|F & /\'ﬁ'ﬁi- B2=ER = ﬁn/%m
8/13| |1 NRE EEER = K52
8/15| A |1 INREL | EEERE |2 K52 2
HERNTTORE - this _
7/26| % |F BI|#HERNEIFHER |= 11:00% T
8/2| & |F HIMBEANE SERLENM= K&Z
8/14|K|F HI|#HENE FEEER |= K52 2
8/15| K|F R |HBEAE EBEEERN |= K52 2
8/19| A |F wI|#HZANE E#HEMm = K&z 2
8/22| K|F 7IIHBEAE EHEN |= K52 2
9/24| N |F ZB|HEBAE FHERR |= K52 2
9/27|%& | FHI|MABAE FGHERM |[= K&2 2
10/2|7K|F BI|#EREEEFEERD = K52 2
10/7| B | ®BI|#EREEFEED = K52 2
10/9|7K |4 Hij ?Hﬂxﬁi- S E K52 2
9H-l®ﬂ§?




8/6| X F HI| 4 B ARHAEE = R&2
8/19/ A|F wi| 4 ® MWUEE = &2
9/2| K|F mi| 4 M MMLEER = &2
9/5| R|“F mi|l & M MMUEER = &2
9/13|& |F miI| 4 ®B | REEEERD = R&2
917 K| F miI| 5 B | RASREE | = K&
PR EsH OONEE - 152 _
1/25| K| F & bR ®l| A HER = 7% 3% [ B
8/8 K|F 1&|pReskl EHEM |= %% R R
8/13| K| F & iR EIERERM |= R&2
8/15| K |F & WPRzadl BHER |= AN A ]
9/12| K|F & |ibRa®l A HER |= &2
Bzt s - m:2 _ ]
/317K | e/ | BER VR /D FDFEERTD = K&
8/2|% |F ®il|EMHEL/NFIFEER = R&2
8/14K | I |ERH L ALMER  |= K&




9/25/ K| Bl |ER4AEJLFER |2 K52
10/15| K | Bl | BB 1E < REA |= N5z
10/15| X | 52 | B9 8 1E LK KERD |= K&2
10/17| K |5 ﬁﬁ *&ﬁ/%%—- k2 KEEH [= K52

EoON:E - 52
9/18| 7K | F ?ﬁ ***Eliﬂ AMEE |= K52




